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’ON 27 is unsure, etc. - 9913 ;7199 KpPDOM YK 29

OVERVIEW

In the three way npY?nn, *oX 21 maintains that the disinherited brother receives ¥°2
ypIp2a [and/or] Myna v>11.' The X explains the reason for "OX 217 is because he is
in doubt whether Wonw 2onR7 are A7 WIS or M7 MMPYa. "wn offers two
interpretation of this reason. mdoIN will cite and reject the first and accept the
second.

- YN IN YPIPI 1PN SNV 0903991 YIS PUNRI PYYa
>"'w9 explains in his first interpretation that the disinherited son takes his
portion (one fourth of his loss) from the remaining son, either in land or in

money.3 The reason why he takes (only) a quarter of his loss, is -
= NN OINRA XIY MMPYI IR NN PYII IN I%D XPODNT DIVN

because *0X 21 is unsure whether the brothers are like heirs (and the disinherited
brother should receive half his loss), or whether they are like purchasers

without any guarantee (and he does not receive anything).* Since we do not know,
therefore we divide the difference and he receives one quarter of the loss.

mooIn has a difficulty with this explanation:
= DY JD5 YON 299 119D XPODNY NI 7YY N AV

And it is difficult! How does the X923 know that ’oX 29 is at all inclined to

think that the brothers are a2y -
= 913%) DWW INDT 1Y NVIVYD NnYT

Perhaps "0X 27 is certain that the brothers are not considered as 23w —
= *PPANNA RIY MINYDY IN H®INNI MNIPYD NN AN 7Y XDODI NN

But rather the reason why the remaining brother receives a "2 ypapa ¥°27 is
because "0X 217 is doubtful whether the brothers are like purchasers with a
guarantee (in which case the disinherited brother is entitled to receive half his

! The disinherited brother can claim at most only half his loss (for he shares the loss with the remaining brother). A
¥°27 is a compromise between his claim (for half) and his brother’s claim (to pay nothing).

* See yo21 "7 "0,

? The remaining heir can give the disinherited brother either ¥p7» or money as he pleases. The meaning of 27
MYna Y027 ¥papa is to be understood as NMYN2 ¥°27 IR YpIp2 Y020

* See previous 2w 13 7" 2M "7 MDOMN.

> This would also avoid the difficulty that 27 maintains NpY>r» 7502 and OX 21 maintains NP2 72ba X9, even if we
assume 17 w712, See 21 1"7 'oN.
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loss), or whether they are like purchasers without a guarantee (and the disinherited

brother receives nothing).®
$PINN IV NI ToY

Therefore, the last interpretation of °"w-, seems preferable. The x"> of >"wA
maintains that the disinherited son receives his entire due’ (half the loss); half of which must be
in ¥pIp, since perhaps the brothers are like 2w (and npYonn 7903), and the other half may be
given in Myn since perhaps they are (merely) n1anR2 MmPHa (where there is no NPY?RR 7702).

SUMMARY
The fact that there is a P90 if "»7 2°w712 forces us to assume that ¥YpIp2 ¥°27 means
that he may insist on Y2722 ¥°27 (in addition to 2°»72 ¥°29).

THINKING IT OVER
1. What is the (seeming) contradiction between this M0 (which maintains X"
of *"w") and the 7mx 271 7"7 MpoN?’

2. According to the X"? why does the &1 assume that *oX 27 is 77 Xpoon whether
"7 MMP?I IR N7 DWI1D; perhaps *OX 27 maintains "7 2w, however he is Po10n
if *1ra *p1909 *x7 or not?™’

3. The & na cited this three-way np 2 to prove that *oX 21 already taught us the 1°7
of ¥pps on »n 0°902. MooIn asks (according to the "?) that “OX 27 may be p1oon if
MT NPINR2 MMP?o or not (but not if 7 o°wI1d). However if that is the poo, then
what is the meaning of ¥p7p> 077 177 2°002?! There is only a Pm2wn 21°1 here; there
is no ¥p1p 211! Obviously the remaining heir can pay with whatever he chooses!''

% If >ox 21 would have ruled that he must receive ¥pp3 ¥°37 (similar to 27), then it is understood why he is poion
whether "n7 0>w13. For since *»7 2°wA3 then 190 702 and he is entitled to ypp. However since "oX 27 does not
maintain 7171 7703; the remaining brother only owes a monetary obligation (payable ¥p122 W nwn2), then there is
no reason to assume that >0X 27 is P910% whether *»7 W),

7 According to this 177, the expression My»1a ¥°271 ¥pIp2 ¥°27 is to be taken literally; a ¥p7p2 ¥°37 and a mMyna yoa1.

¥ This explains why we must say that “oX 27 is 117 2w v °X % Xpoon, for this is the only explanation why the
disinherited son may insist on receiving ¥p1p, since (perhaps) np12nn 17701

? See "1 0" ,X"wA7 in the 271 71"7. See there footnote # 1.

10 See ™"w o" .

' See 1" n.
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